Year 1 Maths Homework 06.12.2019
Group the rabbits by drawing a ring around the number in each hutch. 
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Year 2 Maths Homework 06.12.2019
Write the division number sentence to solve the problem. Answer the problem in a sentence.
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There are 12 rabbits. There can only be 2 rabbits in each hutch. How many rab-
it hutches will we need? hutches
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There are 15 rabbits. There can only be 5 rabbits in each hutch. How many rab-
bit hutches will we need? . hutches

XX ¥
¥ X !xxxkxxx!x

There are 16 rabbits. There can only be 2 rabbits in each hutch. How many rab-
bit hutches will we need? hutches
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There are eighteen rabbits. There
hutch. How many rabbit hutches

only be two rabbits in each
Il we need?

There are twenty five rabbits. There can only be five rabbits in
each hutch. How many rabbit hutches will we need?

There are twenty rabbits. There can only be ten rabbits in each
hutch. How many rabbit hutches will we need?

There are sixteen rabbits. There can only be two rabl
hutch. How many rabbit hutches will we need?

each

There are fifteen rabbits. There can only be five rabbits in each
hutch. How many rabbit hutches will we need?

There are forty rabbits. There can only be ten
rabbits in each hutch. How many rabbit hutches will we need?
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